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A2-4= 1/2  x( 443 + 443 )X 0.52 = 2.30 m’
A2-5= /2 x( 482 + 441 )x  13.02 = 60.09 m’
A2-6= 1/2 ( 485 + 443 )x  13.02 = 60.41 m’
2&, BRHER
A2-7T= — 1/2 x( 045 + 0.65 )X 9.41 = -5.18 m’
A2-8= — 1/2 x( 289 + 2.85 )% 1.04 = -298 m’
A2-9= — 1/2 x( 090 + 0.87 )X 1.00 = -0.89 m’
A2= 123.95 m’
(3) Bt 2EEL
(a)ffg B
A3-1= /2 x( 088 + 091 )x 0.76 = 0.68 m?
A3-2= 1/2 x( 081 + 0.72 )X 4.36 = 3.34 m’
A3-3= /2 x( 072 + 0.59 )X 7.01 = 459 m?
A3-4= 1/2 x( 069 + 0.72 )X 0.89 = 0.63 m?
A3-5= /2 x( 087 + 0.90 ) x 0.66 = 0.58 m’
A3-6= /2 x( 080 + 0.71 )X 4.45 = 3.36 m’
A3-7= /2 x( 071 + 057 )x 6.92 = 443 m?
A3-8= /2 x( 067 + 0.71 )% 0.99 = 0.68 m?’
A3-9= /2 x( 088 + 0.87 )x 0.52 = 0.46 m’
A3-10= 1/2 x( 072 + 0.71 )X 0.52 = 0.37 m?
A3-11= 010 x 052 x 2 = 0.10 m?
2&, BRER
A3-12= — 1/2 ( 036 + 0.17 )% 9.41 = 249 m’
A3-13= — 1/2 x( 088 -+ 0.90 )X 0.52 = -0.46 m’
A3-14= — 1/2 x( 075 + 0.77 )X 0.52 = -040 m’
A3-15= — 1/2 x( 050 + 051 )% 0.50 = -0.25 m’
A3-16= — 1/2 ( 066 + 0.68 )X 0.50 = -0.34 m’
A3= 15.28 m’
b)FE
A4-1= 1/2  x( 030 + 0.81 )X 0.52 = 0.58 m’
A4-2= 030 X 9.41 = 282 m?
A4-3= 941 X 0.71 = 6.68 m’
Ad= 10.08 m’
A3+A4= 25.36 m’
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28BT
(4) BB N\VFEL
R
A5-1= 1/2  x( 370 + 3.77 )X 2.74 = 10.23 m’
A5-2= /2 x( 370 + 3.77 )% 2.87 = 10.72 m’
A5-3= — 362 X 0.52 = -1.88 m’
A5-4= 362 X 0.82 = 297 m?
A5-5= 1/2  x( 370 + 3.70 )X 0.50 = 1.85 m’
A5-6= /2 x( 274 + 2.87 )% 0.50 = 1.40 m’
A5-7= 1/2 % 052 X 0.50 = 0.13 m’
A5= 2542 m’
ARIFEEE
A6-1= 1/2  x( 154 + 1.55 )X 1.50 = 232 m’
A6-2= 1/2  x( 154 + 155 )X 1.50 = 232 m’
A6-3= — 140 X 0.50 = -0.70 m?
A6-4= 140 X 0.71 = 0.99 m?
A6-5= /2 x( 154 + 1.54 )X 0.50 = 0.77 m’
A6-6= /2 x( 150 + 1.50 )X 0.50 = 0.75 m?
A6-7= 1/2 X 050 X 0.50 = 0.13 m’
A6= 6.58 m’
A5+A6= 32.00 m’
(5) HE
AT-1= 025 X 066 X 2 = 0.33 m’
AT-2= 025 X 055 X 2 = 0.28 m?
A7-3= 025 X 0.66 X 2 = 0.33 m’
AT-4= 025 X 055 X 2 = 0.28 m’
AT= 1.22 m’
2-2. LETHET
HEERITEE
A8= (445 + 6.92 )X 0.10 = 114 m’ |
-3 K5 K
BT THIHT (m”)
231 BE-XH =
—RRE KRR 35.4
—fR B EXER 124.0
HEEEY — AP REE ZRED 25.4
—fRE BEE N\OFET 32.0
—RREI M 1.2
BT - L8 THT (m?)
251 BE-Xn =
HEnEEY — R BERITHER 1.1
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3.EkART
(MFHMIET
AR E B BE EEE R e
D13 kg 710 - SD345
D16 " 2,895 S "
D19 " 866 - "
D16~D25 D22 " 2,416 - "
D25 " 18 - "
INET " 6,195 o "
D29~D32 D29 " 1,103 - "
= 17 8,008 _ 17
X EE &R
1= > d
ME AR E &
L<1m IM<L=2m | 2m<L=3m | 3m<L=4m &t
D13 [103] - - - [103]
SD345 D16 - [159] - - [159]
=1 [103] [159] —— - [262]




§2 AIBBEARKT
4¥La>91)—k
F m|

13227

4700
486'6

| 13227

4866

M arvyy—rxT (t=10cm)
o ck=18
L
A= 1323 x 470 = 62.2 m’
x5
V= 622 x 010 = 62 m
(2) yLavy)—r 88 (EHRdEY)
A= ( 1323 + 487 )x 2 X 0.10 362 m
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5.85T
T &
h1=50977m 15298 h2 = 5.397 m
- 10792 P
N [ /1] / /] )
—/
h4 = 5.106 m
h3 = 5.661 m
FRETEGHARS H=30m (FEIMETL)
H= 1/4 X% ( 598 + 540 ++ 566 —+ 511 ) = 554 m
L= 49 + 15.3 + 26 —+ 1.4
+ 15 + 10.8 = 36.50 m
A= 55 X 36.5 = 200.80 #pm?
= 201 #pm?
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6.%RT
| W m

9410 500
1 “
1 &
T T ] Sl —
g
=
2 ~ =
(3]
7 (B ZEEE (S4ED 7 (B2 EE (PR1ED
3253 3387
2735 ‘518 2869 518
] ]
T - -
1 1
: !
| L
S ' 8 8 " 8
5 : 5 = Lo 5
1 L
1 | 1
1 | 1
1 1 1
L
_‘QL _‘QL
A RIEE (58] A RIEE ()
2000 2000
1500 500 1500 ‘500
1 1
! =
2 ' 2 2 ' 2
© 1 © © o ©
1 | 1
1
] 2 2 2
3 3 3 2
J—
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5.3 T
(WZEHZRIT (FEIRET)
(SUHREEXR H=30m AR 51 =<40kN/m2 (t=120cm)
EHaLH)—RE t= 1/2  x( 030 + 0.81 ) = 056 m
THRES H= 2045 ( 94 X 05 ) = 435 m
XRIFE
Vi= 1/2  x[  1/2  x( 48 + 44 )x 9.4
+ 172 x( 43 + 3.9 )X 9.4 ]x 0.5 = 2045 ZEm®
Vi= 20 Zm’
QEREREZRT (FEIHET)
H=30m 80kN/m2 < X {&ifif 17 (250cm<t)
EHaHy)—RE t= 1/4 x( 370 + 3.77
+ 370 + 377 ) = 3.74 m
EHHRES H= 1/4  x( 196 + 196 + 196 + 196 ) = 1.96 m
TRIIKFE
V2= /2 x[ 1/2  x( 20 + 20 )x 2.7
+ 172 x( 20 + 20 )X 29 ]x 0.5 = 280 ZEm®
V2= 3 Zm’
QFAAEERSZRT (FERTHET)
INMTYR—bXR H<4m 40kN/m2 < Rt 71 =60kN/m2 (120cm <t=190cm)
EHaUH)—RE t=  1/4  x( 154 + 1.55
+ 154 + 155 ) = 155 m
EHERES H= 1/4  x( 357 + 357 + 357 + 357 ) = 357 m
TR ITIAFE
V3= 1/2  x[  1/2 x( 36 + 3.6 )X 15
+ 172 x( 36 + 3.6 )x 15 Ix 0.5 = 270 ZEm®
V3= 3 Zm’
EHE
ERIFEEEE | GRAIEEEET =11 &5t
NA7THE b 40KN/m2 < W =<60kN/m2 0 3 0 3
{EUEES H=Z30m | W = 40kN./m2 0 0 20 20
H=30m 80kN/m2<W 3 0 0 3
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1.7k T
BEh A [ BEHERAM BEHERAM
L
1
L‘ L1
N BEm wem || [1].]]
7 Hh—iN—¢d ©
—ot
)
BEEILZIIEEBRHN [Elzin 15
EJLZIILKIRIE L1 mm 420
EILRILKiGE B2 mm 270
EILZILTiHE L mm 506
EILZILTinE B mm 356
THEILZILE  t mm 43
EHBERREE t mm 38
Toh—N\—RBEHK [Elzin 14
F i3 B e oD mm 150
FToh—iN—& o¢d mm 42
AEERE a mm 611
Foh—IN\—E al mm 511
— L
| = ( 051 + 0.36 )X 2 x 004 x 15 = 1.0 m” |
AR
X AERER
¢ 150 = 0.611 m 14 7N
L= 061 X 14 = 85 m
H—FL—ILEZER
¢ 180 L= 0.400 m 4 N
L= 040 X 4 = 1.6 m
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8EBEEILZIL
WTEEEDEE
EJLSIL al= 042 X 0.27 = 0.113 m’
EJLZI a2= 051 X 0.36 = 0.184 m’
TUh—5EIREE a3= 015 °x ;w4 = 0.018 m?
Foh—IN— ad= 0042°x 7 /4 = 0.001 m’
(QDEILZILIKTE
Vi= 1/2 x( 0113 + 0.184 )x 004 x 15 = 0.10 m°
V2= 0.184 X 004 x 15 = 011 m®
V3= (0018 x 061 — 0001 X 051 )x 14 = 0.15 m°
= 04 m
O XEERM
HERRmEEM
| W= 050 X 1138 X 3.00 = 171 m |




§2 AIBBEARRKT

104 FHEKT FIAHTIFHE
T m|
13020
25217 4X2000=8000 2493
o 158. 064
L - \v4 157. 483
= 156. 941 <~> 1
’7E T \V4 156. 527 '2,
Fk g ] |
W=400 t=30 e RN
HE Z% 1929 iz /S 7 gls
VU450 L=1.3m ©
1035‘1292 1600 1600 1600 1600 1293 |1000| (Bt LWHLLH)
400 400 400 400 400
152. 094 152. 094
S g- 151.094 151.094 § o
104 13020 104
Wr @
3900 (0. 6H) 2600 1300
500 804
& 7K
=400 =30 157.594
) I — 156.758 &
T
48— B2t Kk sS4 T
\/'(L/ A=11. 38m2 \7IU¢501\L:2.8m,90" ILR2E
P
TN X = gl g
Wit LIaEs \\ ””””””” WL | ¢
300X300X20 .\ ==
P 1300 {600
| 152. 094
o — g
S o\ jﬁk\‘ T 151008 2 o
EAAFREYIE L=12.87n 1 T 7 =
LOJ 4500
HE X (A1t &
E A & A By E # =
Bk H =400 t=30 m 21.6
T LR AL 400X400X20 Bl 5
Kk /84 T (VU ¢ 50) m 14.0
kiR E /4 F(90° TILK) & 10
ERADHH n3 146.5
1038 FHEKT
(1) FK# (W=400 t=30)
L= FAHTHHMXSE = 216 _m
(2) B LRALE#4 (400 X 400 X 20)
L= EAH T RS = 5 AR
(3) KirE/NAT (VU50)
L= HIAD T MRS = 140 m
(4) T)LR9O (VU50/8)
N= EAH T MRS E = 10 {&




[{RE&T)

£ 5 % = it =X

%A - Hikes it 5 AR BEsr =

RE&RT XEL+®DS Rk XRFATER(GSER) LY
ERBIEIE [1©BE % 68
(FrE% 265 B S 34
K123E] = 34
& i) = 136
KEL o THEK EERFHEK =] 43
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